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ARMY PUBLIC SCHOOL KALUCHAK
SUMMER BREAK HOLIDAYS HOMEWORK

CLASS-VI SESSION: 2024-25
HAPPY HOLIDAYS!!!

“The summer vacation is all about ice-creams, candies and cool
pool. But,most importantly the time of honing our skills and reaching
full bloom.”

This is the time ,when the weather is hot,you can stretch right up
and touch the sky.

DEAR CHILDREN

e Holidays are an integral part of a student’s life. When holidays are
given a meaningful direction, it results in a productive and enjoyable
time



With the holidays, comes an opportunity to unwind and
relax.However, we must maintain a learning continuum during this
much needed break.

Put on your thinking caps and bask in the glory of an enriching dose
of holiday engagement.We have been handed the gift of time, which
must be judiciously used for breaking the monotony.Participate in the
treasure box of educational activities and boost your self-confidence
and varied skills.

“‘LET’S UTILIZE THIS GOLDEN PERIOD TO PURSUE SOME HOBBIES,
APPLY OUR MIND'S CREATIVITY, EXPLORE NEW THINGS AND BRING
#& CHANGE IN THE ENVIRONMENT, IN OUR OWN INDIVIDUAL WAY.”

GENERAL INSTRUCTIONS TO BE FOLLOWED DURING THE
VACATIONS:

Reading is essential for those who seek to rise above the ordinary.
Spend your quality time reading purposeful books, newspapers and
magazines to enhance your daily dose of vocabulary.

Make a list of all the new words explored and keep a record of it.

It's the perfect time to enhance your speaking skills and vocabulary
by conversing in English with your family and siblings.

A beautiful handwriting makes a good impression. Practice one page
of English and Hindi handwriting daily.

Holiday homework should be your authentic creative work.

Holiday Homework is a part of subject enrichment and will be
assessed on the basis of creativity and efforts of the students.

Schedule your time for activities so that there is no piling up for the
last moment.

Indulge more in outdoor activities. Limit the screen time of
mobiles,laptops and other gadgets.

Pursue a hobby and work towards your personality development.

Drink plenty of water and juice to stay hydrated during the scorching
summers.

Make hand washing and hygiene a part of your daily routine.

Follow proper dining etiquettes during all your meals.



e Enjoy a sound sleep. But be an early riser. Practice yoga and
meditation. Indulge in physical exercise to stay physically and
mentally robust.

CONNECT, COLLABORATE, CREATE AND
COMMUNICATE!



SUBJECT:ENGLISH
GENERAL INSTRUCTIONS:-
(i) Attempt all the sections carefully and with proper understanding.
(i) Keep note of all the rules of writing and grammar while writing answers.
(iiif) Cross check all answers with proper revision.
SECTION A- READING (20 MARKS)

A1. Read the passage given below and answer the questions that follow.

1) The diverse culture in India has had a very positive impact on its rich tradition of folk
arts. Various tribes that live in the interiors of various states practise their distinct arts.
One such art form is Warli. This beautiful folk art of Maharashtra was traditionally
created by tribal women. This art takes its name from Warli, the largest tribe found on
the northern outskirts of Mumbai. Although they live in close proximity of the largest
metropolis in India, the Warli tribesmen shun all influences of modern urbanization. This
art was first discovered in the early seventies but according to some art critics, its roots
may be traced to as early as the 10th century A.D. This art expresses the daily and
social events of the Warli tribe. This was once the only way to transmit culture when
people had not learnt the written word. Hence, one can see pictures of human beings
engaged in activities like hunting, dancing, sowing and harvesting, along with scenes
from daily life. These tribal people draw these designs with white paint on the mud walls
of their house. They use basic materials for painting like rice paste with water and gum
for white and a bamboo stick that has been chewed on that serves as a brush.

2) The Warli paintings earlier had no straight lines. These lines are a series of dots and
dashes. However, of late, artists have recently started drawing straight lines. Moreover,
these days Warli paintings are often done on paper. These painting have modern
elements such as bicycle and car. Warli paintings on paper have become very popular
and are now sold all over India. The incorporation of these elements have helped sell
these paintings in the modern day world.The tribals are forest-dwellers but the growing
popularity of the Warli paintings has helped many tribals earn a decent living and
becoming integrated with the mainstream.



Answer the given questions by choosing the correct option given below. (1x6=6)
i) The Warli paintings belong to .
(a) Bihar (b) Maharashtra  (c) Punjab  (d) Assam

ii) These days Warli paintings are often done on .
(a) Walls (b) Paper (c) Floor (d) none of these

i) This art was traditionally created by tribal
(a) men (b) women (c) children  (d) none of these

iv) This art takes its name from Warli, the largest tribe found on the northern outskirts of
Nasik. (True/False)

v) Tribal people draw these designs with ___ paint on the mud walls.

vi) The Warli paintings earlierhad no _____ lines.

vii) How did Warli tribals make their paint and brush? (2)
viii) How does the art help Warli tribals? (2)

A2. Read the passage given below and answer the questions that follow.

1) The World Animal Day is celebrated on 4th October every year to raise the status of
animals in order to improve their welfare standards across the globe. It was started in
1931 at a convention of ecologists in Florence, Italy, as a way of highlighting the plight
of endangered species. October 4 was chosen as World Animal Day as it is the Feast
Day of St. Francis of Assisi, the patron saint of animals. On this day, animal welfare
organizations, communities, clubs, businesses and individuals are encouraged to



organize events in the celebration of World Animal Day. The mission is to connect
animal advocates from all corners of the world. It is a cause for celebration for animals —
lovers.This day is a social movement to fight for social justice and reform. The animal
welfare movement is made up of individuals or groups that have made the decision to
use their time, talents and resources to help make the world a better place for animals.
This is so because the lives of animals are greatly affected by the actions of humans.
Therefore, it is important that the awareness of animal issues is increased. It is essential
that, as sentient beings, their rightful status as recipients of social justice is realized to
develop a compassionate culture.

2) To celebrate World Animal Day, a variety of inspiring events are held each year.
These include awareness and educational events, pet adoption events, conferences
and workshops, fund raising events such as concerts, sponsored walks, veterinary
treatment camps, rabies prevention awareness and vaccinations, radio and TV
interviews, peaceful marches, etc. These are wildly diverse. In Australia, marchers have
called for an end to poaching elephants and rhinoceroses. In India, a community has
released indigenous birds, such as herons and egrets, into a clean and healthy
environment. In Panama, an animal shelter offers a spay/neuter clinic for dogs and cats.
The World Animal Day thus works to accelerate the process of invoking global concern
towards the plight of animals and to unite animal lovers worldwide.

Answer the given questions by choosing the correct option given below. (1x6=6)
i) The World Animal Day is celebrated on :
(@) 5Sep. (b)4 Oct. (c) 4 Nov. (d) 4 Dec.

i) In , marchers have called for an end to poaching elephants and rhinoceroses.
(a) Africa (b) Asia (c) Australia (d) none of these

iii) It was started in at a convention of ecologists.
(a) 1831 (b) 1931 (c) 1821 (d)1921

iv) The mission of celebrating the world animal day is to connect animal advocates from
all corners of the world. (True/False)

v)In , @ community has released indigenous birds into a clean and healthy
environment.

vi) World Animal Day is the Feast Day of .

vii) How was the celebration of this day initiated? (2)



viii) Why is it important to involve more people in the movement? (2)

SECTION B- WRITING (10 MARKS)

B1. Develop a short story, within 100 words, from the given outline. Suggest a
suitable title of the story. Write the moral of the story. (1x5=5)

Outline: A hot day—a cap-seller under a tree—ten red caps for sale—falls asleep—caps
gone when he wakes—ten monkeys on the tree—each wears a cap— think how to get
back caps—snatches cap off his head and throws it down—monkeys imitate.

B2. Write a letter to the editor of a newspaper regarding frequent breakdown of
electricity. (1x5=5)

SECTION C- GRAMMAR (30 MARKS)
C1. Pick out the nouns and state their kind also. (1X10=10)
i) The train stopped at the station.
ii) This necklace is made of gold.

iii) The fireman could not put out the fire.

iv) My family is going to Lucknow.

v) The Ganga is a holy river.

vi) Many new plants have been planted in the garden.
vii) The shepherd took his flock of sheep to the grassland.
viii) A crowd gathered around the injured man.

ix) A pack of cards is kept on the table.

x) The Taj Mahal is a beautiful building.

C2. Fill in the blanks by choosing the correct option:- (1x5=5)
(Army, committee, crowd, fleet, team, swarm)

i) A___ of people was watching the movie.

i) A of ships gathered at the seaport.

i) All the soldiers in the were brave enough to fight together.

iv) Our consists of five people of parliament.

v) A of bees flew out and stung the intruders.

C3. Rearrange the following words to form meaningful sentences. (1x10=10)

i) soccer/ He plays / his friends / with

i) come from / Where / did / all these letters
iii) flowers / bought / these / Who / beautiful
iv) the garbage / dispose of / properly / Please
v) a beautiful / | will / gown/for myself / buy



vi) If you work hard, / surely / you will / succeed

vii) the desert/ A camel / carries / through / travelers
viii) That is/Wow/good news

ix) pleasant /What a /evening/it was

x) clean /How /looks /this garden

C4. Read the following sentences and mark whether Declarative, Interrogative,
Imperative or Exclamatory. (1X5=5)
i) Do you drink milk daily?
ii) Stars are twinkling in the sky.
iii) Ah, what a lovely rose!
iv) Let us go for a river bath.
v) Keep quiet!
ACTIVITIES

i) Choose a character from a book (any story book) you have read and create a collage
representing that character. You can include images, quotes, and descriptions that
capture the character's personality, traits and role in the story.

ii) Write a letter to yourself that you will read at the beginning of the next school year.
You can reflect on your favorite memories from the summer, your goals for the
upcoming school year, and any advice you would give to your future self.

SUBJECT : MATHS

General instructions:
e This worksheet consists of five sections A,B,C,D and E
e Section A comprises of 15 MCQ and 3 Assertion reasoning based questions.
e Section B comprises of 5 very short type questions.
e Section C comprises of 5 short questions .
e Section D comprises of 4 long questions .
e Section E comprises of 2 case study questions

SECTION A

1.Number of whole numbers lie between 38 and 68 is
a) 31 b) 30 c) 29 d) 28

2. The product of a non — zero whole number and its successor is always
a) an even number b) an odd number  ¢) a prime number d) divisible by 3



3. Which of the following is not true ?
a)0+0=0 b)0-0=0 c)0x0=0 d)0+0=0

4. The successor of smallest counting number is
a)1 b) 0 c) 2 d)3

5.When any counting number is multiplied by 0 , the product is
a)1 b) 0 c) the counting number itself d) none of

these

6.The successor of 1 million is:

a) 2 millions b) 1000001 c) 100001 d) 10001
7. 15+0=
a) 1 b) 0 c) 15 d) not defined
8. 1km = cm.
a) 100000 b) 10000 c) 1000 d) 100
9. 1m= cm
a) 10 b) 100 c) 1000 d) none of these

10. The smallest two digit number is
(a)10 (b) 90 (c) 99 (d) none of these

11. Successor of 1099 is

(a) 1010 (b) 1000 (c) 1100 (d) 1011
12. 1 lakh is
(a) 1000 (b) 10000 (c) 100000 (d) 1000000
13. The whole number occurring just before 567890
(a) 567891 (b) 567800 (c) 567889 (d) 567888
14. is the only whole number which is not a natural number
(@0 (b) 1 (c)2 (d)3
15. Dividend = x quotient + remainder
(a) divisor (b) dividend (c) quotient (d) remainder

16. Assertion(A)- 1 is the smallest whole number.



Reason (R) — The whole numbers are the numbers which starts from 0,1,2,3.....
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) Alis true but R is false
d) A is false but R is true
17. Assertion: 59785 is the greatest number among 382, 4972, 18, 59785, 750.
Reason: When a number is bigger or larger than the second or rest quantities
or numbers it is known as greatest number.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) Ais true but R is false
d) A is false but R is true
18. Assertion: There are 15 whole numbers between 0 and 15
Reason: — The natural numbers along with zero form the collection of whole
numbers
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) A is true but R is false
d) A is false but R is true

SECTION B
19. Find the smallest and the greatest
a). 382, 4972, 18, 59785, 750. b ). 1473, 89423, 100, 5000, 310.
20. How many numbers are there between 53 and 23.
21. Write the three preceeding numbers just before 10,000
22 .Find the three numbers after smallest 3- digit numbers.
23 Write 7684356 in Indian as well International Place value system
SECTION C
24 Arrange the following numbers in ascending order-
(a) 847, 9754, 8320, 571 (b) 9801, 25751, 36501, 38802
25 . The town newspaper is published every day. One copy has 12 pages. Everyday

11,980 copies are printed. How many total pages are printed every day?

26. Shekhar is a famous cricket player. He has so far scored 6980 runs in test matches.
He wishes to complete 10,000 runs. How many more runs does he need?



27. Find the difference between the greatest and the least 5-digit number that can be
written using the digits 6, 2, 7, 4, 3 each only once.
28. A garment factory produced 216315 shirts, 182736 trousers, and 58704 jackets in a
year. What is the total production of all the three items in that year?
SECTION D
29. To stitch a pant 1 m 15 cm cloth is needed. Out of 36 m cloth, how many pants
can be stitched and how much cloth will remain?
30. A bus takes hours to complete its journey from khandwa to Indore. If the distance
between Khandwa to Indore is 290 km then calculate the speed of bus.
31. Name the system of numeration it is written and explain. a ) 26,42,126 b)
143,241,313
32 . The weight of one thyroid tablet is 0.25 gm. If a bottle contains tablet of 3 month (1
tablet per day dosage) then what is the total weight of the tablets present in bottle?

SECTION E

CASE STUDY BASED QUESTION
33. In 2001, the populations of Tripura and Meghalaya were 3199203 and
2318822, respectively.
Write the populations of these two states in words.
i ) Write the population of Tripura in Indian Place Value System.
ii) Write the population of Tripura in International Place Value System.
iii) What is the total population of both the states.
OR
iii) Find the difference in population of both the states?
34. Ramesh buys 10 containers of juice from one shop and 18 containers of the same
juice from second shop. If the capacity of each container is same and the cost of
each of the container is 150

i ) Find the cost of 10 containers of juice bought from the first shop?
ii) Find the cost of 18 containers of juice bought from the second shop?
iii) Find the total money spend by Ramesh.
OR
iii) Write total amount spend by Ramesh in Indian Place value System.

HOTS
35 A family spend Rs. 100 for lunch and Rs. 40 for milk for each day.

i ) How much money will they spend on lunch in a week?
ii) How much money will they spend on milk in a week?
iii) Find the total amount spend in a week .



iv) If money spend on milk is Rs. 45 then how much money will they spend in
5 day on these things?
36. The town news paper is published every day. One copy had 12 pages.
Everyday 11,980 copies are printed. How many total pages are printed every day ?

ACTIVITIES
All stds.to prepare a booklet of tables 2-20
1)ROLL NO 1-10: Make a carry bag using geometrical shapes.

2 ) ROLL NO 11-20 : Conduct a survey of 10 families regarding the total number
of family
3) ROLL NO 21-30: Make a model of different types of 3d shapes( Cube, cuboid,
sphere , Cylinder,Prism)

4) ROLL NO 30-40: Write a brief history of mathematician Ramanujan. Identify
Hardy-
Ramanujan Number .Write the properties of it.

SUBJECT SCIENCE

1. ROLL NO.1 TO 10:Imagine you are a dietician. Prepare a diet chart for a child aged 12-
14 years. Keep the concept of balanced diet in mind while preparing the chart.

2. ROLL NO. 11 TO 20:People of different states eat different types of food. Collect
information about any five states-their food habits, and the ingredients used by them in
the food items.

3. ROLL NO. 21 TO 30:Prepare a file collecting information and preparing a report about
how the climate of your city has changed in last 25 years. Search for the possible reasons
for this change.

4. ROLL NO. 31 ONWARDS:Deforestation is a major problem today. Compare and
prepare a report on the forest cover of India today and 20 years ago. Also explain how
can you help society in the conservation of forests.

WORKSHEET
CLASS-VI
MULTIPLE CHOICE QUESTIONS
1. The essential components of our food are called
(a) Fats (b)Nutrients (c)Minerals (d)Roughage

2. The mineral which controls the functioning of thyroid is
(a) Phosphorous (b) Calcium (c)Magnesium (d)lodine

3. Excess of eating fats rich diet may result in



(a) Obesity (b) Healthy body (c) More energy (d)Strong Bones

4. The liquid that dissolve in one another are called
(a) Immiscible (b)Miscible (c)Insoluble (d)None

5. Water plays an important role in the functioning of our body because
(a) It dissolves a large number of substances (b)lt is hard
(c)lt is transparent (d)Itis a liquid

6. Wood is used as a fuel. Which property makes it suitable for this purpose
(a) Combustibility (b)Density
(c)Solubility (d)Immiscibility

7. The property which forms the basis of sieving
(a) Difference in weight (b)Difference in colour
(c) Difference in shape (d)Difference in size

8. Butter is separated from milk by
(a) Sedimentation (b)Filtration (c)Churning (d)Decantation

9. When no more salt dissolves in water at aparticular temperature, then the solution at
that temperature is called
(a) Unsaturated (b)Saturated (c)Supersaturated (d) None

10.The components of a solution of sugar in water can be separated by
(a) Filtration (b)Decantation
(c)Sedimentation (d)Crystallization

ASSERTION - REASON
Directions:Inthefollowingquestions,astatementofassertionisfollowedbyastatementofreaso
n.Mark the correct answer as:

(a) IfbothAssertionand ReasonaretrueandReason isthe correct explanationof Assertion.
(b) IfbothAssertionand Reasonaretrue but Reasonisnotthecorrectexplanationof
Assertion.

(c) IfAssertionistruebutReasonis false.

(d) IfAssertion is falseandReasonistrue.

11. Assertion:Obesity occurs when one takes more food than the requirement.
Reason:The extra food gets stored as fat and the person become too fat.
12. Assertion:Deficiency of calcium causes rickets.



Reason:In our diet, milk and milk products are the major source of calcium.
13. Assertion: Food containing proteins are called body building food
Reason: Cheese is a plant source of protein.
14.Assertion:Copper metal has lower density than water.
Reason:The materials that sink in water have higher density than water.

15. Assertion:Diamond is a hard metal.
Reason:The materials which can be compressed or scratched easily are called
as hard materials.

16.Assertion:Shopkeepers usually keep biscuits, sweets in transparent
containers of
glass or plastic.
Reason:Buyers could easily see through the transparent containers.

17. Assertion:Chalk powder can be separated from water by filtration.
Reason:Chalk powder is insoluble in water.

18. Assertion: When the heavier component in a mixture settles after water is added to
it, the process is called sedimentation.
Reason:When the water along with the dust is removed, the process is called
decantation.

19. Assertion:Evaporation can be used to separate a solid dissolved in a liquid.
Reason: Evaporation is the process in which vapour gets converted into liquid
form.

20. Assertion: Husk and flour can be separated by the process of sieving.
Reason: Sieving is used when two components of mixture differ in size.

VERY SHORT ANSWERS
21.Water does not provide nutrients, but it is an essential component of food. How?
22.Neha often complained of bleeding gums. She also had a weak immune system,
and her wounds took longer time to heal. Which deficiency disease does Neha is

suffering from? Suggest her certain food that she should include in her diet.

23.The density of an object is slightly less than that of water, will it sink or float in water?
Give an example.

24 Why do we need to group materials?



25.1s there any way that water could be made to dissolve more salt before the
solution gets saturated?How?

SHORT ANSWERS

26.(a) While using iodine in the lab, a few iodine drops fell on Paheli’s socks, and
a few fell on her teacher’s saree. The iodine drops on the saree turned blue-
black, while their colour did not change on the socks. What can be the
possible reason?

(b) List some common sources of carbohydrates.

27.(a)Proteins are an essential component of our food. How would you test the
presence of protein in a food sample?
(b) Why does a growing child need more minerals?

28.(a) On a bright sunny day, Sheena was playing hide and seek with her brother. She
hid herself behind the glass door. Do you think her brother will able to
locate her? Give reasons.

(b) Why most of the metals lose their lustre after some time?

29. (a)Paheli bought some grains mixed with husk from the market. Which
method of separation would she select to separate them and why?
(b) How is common salt prepared on a commercial scale?

30.(a) You are provided with a mixture of wheat flour and iron nails. Can you suggest
a method to separate the two?
(b)Filtration is a method which is used to separate insoluble solids from liquids.
Explain with the help of an example.

CASE STUDY BASED QUESTIONS
Read the following and answer the questions below:

31.Eating the right kind of food is not enough. It should also be cooked properly
so that its nutrients are not lost. But there are some nutrients that get lost in
the process of cooking and preparations. If the vegetables and fruits are
washed after cutting or peeling them, it may result in the loss of some
vitamins. The skins of many vegetables and fruits contain vitamins and
minerals. Similarly, repeated washing of rice and pulses may remove some
vitamins and minerals present in them. We all know that cooking improves
the taste of food and makes it easier to digest. At the same time, cooking
also results in the loss of certain nutrients. Many useful proteins and
considerable amounts of minerals are lost if excess water is used during



cooking and is then thrown away. Vitamin C gets easily destroyed by heat
during cooking. Also it can be very harmful for us to eat too much of fat rich
foods and we may end up suffering from a condition called obesity.

(a) Write any two advantages of balanced diet for our body?

(b) Suggest some ways to prevent obesity in children?

(c) Mention the disadvantages of cooking food?

(d) Give an example of food item rich in Vitamin C.

32. There is a vast variety of objects everywhere. All objects around us are made of one
or more materials. A thing can be made of different materials. Many things can be
made from the same material. The process of sorting and grouping things according
to similarities and dissimilarities is called classification. We can group material on the
basis of the similarities and differences in their properties. We choose a material to
make an object depending on its properties, and the purpose for which the object is
to be used.

(a) Name any two objects that can be made from wood.

(b) Why do we need to group materials?
(c) Name any four materials that can be used to make school bag.

(d) Write any two properties of materials that help us to group things.

33.Saroj collected muddy water from a pond. He separated the mud from the water in
three steps as shown in the pictures below. Examine it and answer the following
questions.

(Gsoot ]

Sedimen

Clear
water with
some mud

Step Step 2

Muddy
water

Funnel
with
Filter
paper



FUNNEL

FILTER PAPER

BEAKER

PURE WATER

MUDDY WATER

(a) Name the separation method did Saroj use in Step 3?
(b) How Step 2 is different from Step 37
(c) Which properties did Saroj use to separate mud from water?

(d) List the other methods of separation of mud from the water?

CH1- UNDERSTANDING DIVERSITY

Q1. Indian freedom struggle is an example of

(a) Unity in diversity
(c) Unity in beliefs

(b) Unity in opinions
(d) Unity in power

Q2. |dentify the term with the help of the following information
"It comes about when a person does not have the resources and opportunities that

are available to other persons."

(a) Democracy (b) Equality(c)inequality(d) Unity

Q3. Match the following with correct option:

SUB:CIVICS

Column A Column B
a. Cheena-vala i. National epic of Tibet
b. The Discovery of India ii. Fishing nets

iii. Jawaharlal Nehru

(@) a-ii, b-i (b) a-iii, b-ii

(c) a-ii, b-iii

(d) a-iii, b-i




Q4. Identify and name the famous festival of Kerala:

Q5. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:

Assertion (A):Diverse religious and cultural backgrounds are not the onlycriteria
for differentiation among the masses.

Reason (R):Opportunities and circumstances also play a pivotal part to decide
one’s socio-economic condition.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) As correct but R is wrong.

(d) Ais wrong but R is correct.

Q6. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:

Assertion (A):Diversity relies a great deal upon geographical location.

Reason (R):Diversity comes about when people adapt their lives to the
geographical area in which they live.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) As correct but R is wrong.

(d) Aiswrong but R is correct.

Q7. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):The fertile land and climate made Kerala an attractive place..
Reason (R):Arab and Jewish traders were the first to come here, they were
attracted by the abundance of rice in this region.
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Als correct but R is wrong.

(d) Aiswrong but R is correct.



Q8. Mention how history and geography are often tied in the cultural life of a region.
Describe in view of Kerala and Ladakh.

Q9. What made Jawaharlal Nehru to coined the term “Unity In Diversity? Give your
opinion.

Q10. Read the sources given below and answer the questions that follow:

Ladakh is a desert in the mountains in the east of Jammu and Kashmir.The goats in this
region are special because they produce pashmina wool.Being a desert did not mean
that Ladakh did not attract its share of traders. It was considered a good trade route as
it had many passes through which caravans travelled to what is today called
Tibet.Buddhism reached Tibet via Ladakh. Ladakh is also called Little Tibet. Islam was
introduced in this region more than four hundred years ago and there is a significant
Muslim population here.

Questions:
10.1Why are the goats in this region special?

10.2 Why was Ladakh considered a good trade route?
10.3 Which religion reached Tibet via Ladakh?
10.4 What is the other name given to Ladakh?

CH1- The Earth in the Solar System

Q1. Arrange the planets according to their distance from the sun:

i. Mars.
ii. Mercury
iii. Venus
iv. Earth.
(@) ii-iv-i-iii (b) iv-iii-i-ii
(c) ii-iii-iv-i (d) iii-ii-iv-i

Q2. Identify the constellation with the help of the following information
"This is the most easily recognisable constellation having group of seven stars."
(a) Virgo
(b) Saptrishi
(c) Aries
(d) Orion
Q3. Match the following with correct option:



Column A Column B

a. Pole star i. moon

b. Milky Way ii. Indicates north direction

iii. Akash Ganga

(@) a-ii, b-i (b) a-iii, b-il (c) a-ii, briil (d) a-iii, b-i

Q4. Identify and name the Planet shown in the picture below:

Q5. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):Venus is considered as ‘Earth’s — twin’.
Reason (R):Shape and size of Venus are very much similar to that of earth.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Als correct but R is wrong.
(d) Aiswrong but R is correct.
Q6. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):We cannot see stars during day time.
Reason (R):Stars appear only at night and not during day time.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Ais wrong but R is correct.
Q7. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):Moon appears so big to us from the earth.
Reason (R):Moon is the only natural satellite of earth.




(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Aiswrong but R is correct.

Q8.The sun is commonly known as Soorya or Sooraj in Hindi. Find out its name in
different languages of our country.

Q9. What would happen if there will be no water and air on earth? Explain.

Q10. Read the sources given below and answer the questions that follow:
The small pieces of rocks which move around the sun are called meteoroids.
Sometimes these meteoroids come near the earth and tend to drop upon it.During
this process due to friction with the air they get heated up and burn.It causes a flash
light. Sometimes, a meteor without being completely burnt,falls on the earth and
creates hollow. We can see whitish broad band, like a white glowing path across the
sky on a clear sky .This band is called the Milky Way Galaxy.Our Solar system is
part of this galaxy. It is also called Akash Ganga. Millions of such galaxies make the
Universe.

Questions:

10.1 What are the small pieces of rocks which move around the sun are called?
10.2 Define the term universe.
10.3 Why meteoroids starts burning?

10.4 What creates hollow on the earth surface? Explain.

CH2- Globe: Latitudes and Longitudes
Q1. Arrange the important parallels of Latitudes according to their degrees from
Equator in the correct sequence:

i.  Arctic Circle at 66 %2° north of the equator.
ii. Antarctic Circle at 66 '2° south of equator.
iii. Tropic of Capricorn 23%2° S in the Southern Hemisphere.
iv. Tropic of Cancer 2372° N in the Northern Hemisphere.
(@) ii-iv-i-iii (b) iv-iii-i-ii
(c)  i-iv-iii -ii (d) iii-ii-iv-i

Q2. Identify the imaginary line with the help of the following information
"Imaginary line running on the globe divides it into two equal parts."
(a) Axis

(b) Equator

(c) Tropic of Cancer



(d) Tropic of Capricon
Q3. Match the following with correct option:

Column A Column B
a. Globe i. Earth rotates on it.
b. Axis ii. Miniature form of earth.

iii. Has definite chemical
composition

(@) a-ii, b-i (b) a-iii, b-il (c) a-ii, b-iii (d) a-iii, b-i

Q4. Identify and name the imaginary line shown in the picture below:

Q5. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):The equator represents the zero degree latitude.
Reason (R):Latitudes are measured in degrees..
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Ais wrong but R is correct.
Q6. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):The meridian which passes through Greenwich is called prime
meridian.
Reason (R):The prime meridian divides the earth into two unequal halves.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Ais wrong but R is correct.
Q7. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):Frigid Zone have moderate temperature




Reason (R):Torrid Zone receives the maximum heat.

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.
(d) Aiswrong but R is correct.

Q8. Why do we have standard time?
Q9. Why is it 5:30 p.m. in India and 12 noon in London?

Q10. Read the sources given below and answer the questions that follow:

The imaginary line running on the globe divides the earth into two equal parts. This
line is known as the equator. The northern half of the earth is known as the Northern
Hemisphere and the southern half is known as the Southern Hemisphere. They are
both equal halves. Therefore, the equator is an imaginary line and is very important
reference point to locate places on the earth, All parallel circles from the equator up
to the poles are called parallels of latitudes. Latitudes are measured in degrees. The
equator represents the zero degree latitude.

Questions:
10.1 Define equator?
10.2 “Equator divides the earth into two hemispheres.”. Name them.
10.3 What are parallels of latitudes?

10.4 Draw a diagram showing equator and four important parallels of latitudes.

CH1- INTRODUCTION:WHAT, WHERE, HOW AND WHEN?
Q1. Arrange the events of Historical significance in the correct sequence:

i. Evidence of hunters and gatherers found near Narmada valley.
ii. About 2500 years ago, cities developed on the banks of the Ganga &
its tributaries, and along the sea coasts.
iii. Crops (wheat and barley) grown at Sulaiman and Kirthar hills.
iv. Cities like Harappa developed near the bank of Indus river.
(@) ii-iv-i-iii (b) iv-iii-i-ii
(c)  i-iii-iv-ii (d) iii-ii-iv-i

Q2. Identify the name of Hills with the help of the following information
"This range covers the city of Ujjain, which has religious significance”
(a) Vindhyas (b) Himalayas (c) Satpura (d) Garo
Q3. Match the following with correct option:



Column A Column B
a. Garo Hills i. The first big kingdom
b. Magadha ii. Early agriculture
iii. The first city
(@) a-ii, b-i (b) a-iii, b-ii (c) a-ii, b-iii (d) a-iii, b-i

Q4. Identify and name the type of literacy source in the picture below:

Q5. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:

Assertion (A):Men and Women began to grow crops such as Wheat and Barley at
Sulieman and Kirthar hills to the northwest about 8000 years ago

Reason (R):The land here was fertile which made it sustainable for farming and

other activities.

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A
(c) As correct but R is wrong.
(d) Ais wrong but R is correct.
Q6. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):The name Bharata was used for a group of people who lived in the
northwest and who are mentioned in Rigveda.
Reason (R): Rigveda was written in 1875
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) As correct but R is wrong.
(d) Ais wrong but R is correct.
Q7. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and chose the correct option:
Assertion (A):We use the term A.D after any date to signify the year.



Reason (R):AD refers to the years counted from the birth of Jesus Christ, the
founder of Christianity. The Latin term for AD is Anno Domini.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) As correct but R is wrong.

(d) Aiswrong but R is correct.

Q8.Compare and contrast the methods used by archaeologists and historians to study
the past. How are these approaches similar? In what ways do they complement
each other?

Q9. Imagine you are an archaeologist tasked with excavating a site believed to be an
ancient settlement. What specific steps would you take to uncover and interpret
artefacts? How would you ensure the preservation of valuable historical remains?

Q10. Read the sources given below and answer the questions that follow:

There were many things that were made and used in the past. Those whostudy these
objects are called archaeologists. They study the remains of buildingsmade of stone
and brick, paintings and sculpture. They also explore and excavate(dig under the
surface of the earth) to find tools, weapons, pots, pans, ornamentsand coins. Some of
these objects may be made of stone, others of bone, bakedclay or metal. Objects that
are made of hard, imperishable substances usuallysurvive for a long time.
Archaeologists also look for bones — of animals, birds, andfish — to find out what
people ate in the past. Plant remains survive far more rarely— if seeds of grain or
pieces of wood have been burnt, they survive in a charredform. Historians, that is,
scholars who study the past, often use the word source torefer to the information found
from manuscripts, inscriptions and archaeology. Oncesources are found, learning about
the past becomes an adventure, as wereconstruct it bit by bit. So historians and
archaeologists are like detectives, who useall these sources like clues to find out about
our pasts.

Questions:

10.1What is a source, according to historians?

10.2Archaeologists also look for bones. Why?

10.3 Name the material used to make hard, imperishable objects.

10.4 Why are historians and archaeologists compared to detectives?

SUBJECT —- COMPUTER

GENERAL INSTRUCTIONS
e ALL THE HOLIDAYS HOMEWORK IS TO BE DONE THE FAIR COPY
e USE OF COLOURFULL PENS AND DECORATIVE MATERIAL IS ALLOWED.




CLASS VI

1. Memory in Action:
Watch a short video or read an article about how computer memory is utilized in
gaming consoles or smart phones. Write a brief summary highlighting the
importance of memory in these devices.

2. Hardware Identification:
Visit any shopping centre with your family. Identify the different input and output
devices present on the billing counter and write a short note on them.

WORKSHEET

1. Differentiate between hardware and software. Provide examples of each.
2. Explain the function of the following input devices:
Keyboard
Mouse
. Describe the role of the CPU in a computer system.
. What is the purpose of the monitor in a computer system?
. Define RAM (Random Access Memory) and explain its significance in computing.
. Write a short note on QR Code.
. Make a table of memory units.
. Define the 3 levels of Cache memory.
. What are the different types of dynamic RAM.
0. Write a short note on SSD- Fastest Drive.

= O 0 NO O b~ W

SUBJECT - HINDI
SECTION-A

1. (ROLL NO. 1-10)

AT $T E9H) WHTd SR drefl AfFATY TS 8 &3 § IAUAT ST A9ar & T | I DI
AR BT GHR FANART TR 2, 0% IATS IGH FAadl 9 ds+ &1 |96y 31 T 21 ARl
P IVEaET I @ fag ve wfaa sfaar &1 o aifeg)

2. (ROLL NO. 11-20)
q § dar dm gAY e uRIR & w1t doax <fEy, qonm fedft te wsrlt @

fiemr PIfav

3. (ROLL NO. 21-30)
AT IMH & dodl & A1 SidR AT fos1 faae  aon SReR gRT S9a  Rrer &1
9FR M @ iU T FT HW IO O AT ;g gIma AR 9 SftaT F
fo—fp1 gt &1 G axd &, e SIfTv |



4. (ROLL NO. 31-40)
et @ &<l < 98 GItdRl &1 RN &1 &ide 9918V | e &l FH°Is &I
TdoT R HBT Al 2,599 DI Tl U eal A Aad BT |

SECTION-B
1. (ROLL NO. 1-10)
“H fhare ugd 9 Riaw Wed E SueT ORI A AET wkA @ ded §)0
ARd & fedl Yeiie @ @& g=m g qem 98 @1 GEpfa, | SR
e W B aFeN taba sifeg ik fafEg

2. (ROLL NO. 11-20)

IJAfHY "Ra &1 fEfor @t w9 2, 99 ' AP SRl B 9914l < | AR
P fafr<1 e st @& fagg d o iR 9ofq S g S99 y9Ifad e ER
R SURA  IFTaTId aEgaN | Rieuadrt &Y |

3. (ROLL NO. 21-30)

JEARIYT HIfSY | gl &1 gdar Reafa qom waierofiiy 431 & fawa § IFeR) taha
PIY qem Pfa &1 A > fau A9 H1 FT-FT HSH SOl Ay 59 fawg
W USI SIfAv |

4. (ROLL NO. 31-40)

T W TeT Ul fee greal A Ygar @ Sue fad ¥ 999 @ ufa uier _sTaR d @1
A oAl BIAT @ 98 -1 Bl FT R FARI AT HAT @ FUIIY 98 IAP ARG & fad
@ ®A9 BIaTl 2 | 4fF e @ Sfilaq S5 T afere™ 29 9 R 3q® dfaag = 18 @
g H ARSI Jdr BT S8 T BA B fAv v waxfaa sfaar a1 i aifig

SECTION-C

1. (ROLL NO. 1-10)

il faasEig Sff 1 S8l @ QU S gal & <A I A9fasy giar 2 | @il fadsrEg off &
a3 &1 ufey qor S Shaw @ mus! F&r avon fyed) @ fafeag | adam g7 & wRa @)
garsit &1 fadw & ufa edr #ig F1 921 27 39 fawy ) A un faar a1 aifeg )

2. (ROLL NO. 11-20)

AHAdl & ol 4T T 27 39 Q9T WR U 98 g1l 4 qradid d SID1 qIeAra<en
forenvEsen qon ada@ w9 & fawg § 9F 9@ guR ) Saa) der fad Ss9 e grRa
AU MY Fhadl & o Al @ meaR ) U <fe fem=aat &1 fmfor f #feg )

3. (ROLL NO. 21-30)
AR ¥ F9IY O dlel J&1 QAIERT &1 Gl o9 & W Afed 0@ | 9dd AER &1 oy
TRay < AER | 99111 90 2 3R S96T 89R Siidd § T ¥edd ¢ fod U+ #9uvg
@ER &1 fax 9917 |



4. (ROLL NO. 31-40)

R Bl 3Tolle A H Hg HSH <IHBI A U Ao ST AN B far S 9 g
RIGA[T 3Mfa | U8 &€ &9 4 9 10 Qe & faz fRausid qom Saa1 g uR=ey <d 8¢
IHT U Bl WA I H F®T AN @ fod |

SECTION-D

1. (ROLL NO. 1-10)

YT &1 99T 8 QI o8 94T 2 | 39 fa9T R Tl &) a1 & | 9o qgiaor |3
B 9Tl @ U9 gf¥d gafaRor @ B9 arefl sl @ fawr @ @ &) | g gaterer
Pl ¥ WG & foIU F1 ST q_AT A Bl GATaReT Wew v@H b fov w9 wicarfea
BT 9Ty |

2. (ROLL NO. 11-20)

frar Rdg srefeaven @t g 2 | smygfe I 7 feam &1 & gAifaar iR awene
S AT BT U V81 @ fawR 4 fad | ureie o1 a1 e oiad 4 fea gri
WN—a1ET § g7 fpy 9 a1 SuBRvll & T AW Gfed 999 997 S9a1 Sy HY
ford |

3. (ROLL NO. 21-30)

wiRed &I YT gaR ufafed @ Sfiad & gedr o1 &1 2 o g9R fau sifors @ «fe
e f ¥ 3R A8 wWifRed &1 w7 §7 2 8 @I 399 g4 arell an vd Jeaml
@l fager 7 falRay| s79 99 @ Sy i fafag)

4. (ROLL NO. 31-40)

ATEFTF JT A 9gd R USRI A9 & fay wers g 81 @ © o $9er cdifawq
Aqrsd Afa | T/ & F 10 SuBN B A fam wfed 913¢ qom 399 B ared @
Trr BRIl &1 AR | aoi sRy |

SECTION-E
1. (ROLL NO. 1-10)

I WY 29 aaa A d9 9@ faeRia T2 8 9@l o9 d@ SHal arTRe Rrfda E 8
od Riam 5 aq= & fay @& o @ Rifda o= fea ave <9 91 gwfa 4 §=
Afier Fomar 2@ fod | wB—foae IR 81 @& SR AU W1 3120@1 Q9 & v Far—an
S R |

2. (ROLL NO. 11-20)



QA D T 99 S IR AT AR I D YU TSR THAd b (D
diferst 9915 | uyl uferal &l fisR # 93 <@ 1 Sfua @ e faaR wah Sifvg | e
R P Bd W) Rl @ faq < urll 31 sraven i |

3. (ROLL NO. 21-30)
WHAS B BBI-—T 9D BT ST GNET SIT8 Ud GRUAR a7 &l Sl &l HAT 9fey a=In
fodft v wer @ whear FIT | e IRvneIe waxfad wer H faRag |

4. (ROLL NO. 31-40)

B AT9T TR QA DY ATATIT 2 | TAR QU DI MRG 2 | IRd @ o st d &
AYHATST & ®©U A WA idl 8 AFfaa wR sifea difeg | &S feaw «9 a=man smar 27
Y w9 fow avE TR QU & e gA ¥ 9fd w@dl ? ford e R feaw @ feg
AMpY b UIeex 9917 |

SECTION-F
1. (ROLL NO. 1-10)
AT $T E9HR WA SR drell AfFATS 37191 &% &3 d IAUAT dlsT A9al B © | 3T DI

AR BT B ARNERT SR 2,UR 3Tl S9H gl 4 dss &1 9189 31 W™ 2| A
P SR W @ foy g wWrfaa sfaar &1 o $ifeg

2. (ROLL NO. 11-20)

‘124 B’ AT gAX e tRaR & w1 deax IRay, 7o fefl ta derl a1 wfar
Iy |

3. (ROLL NO. 21-30)

JATA AT & dodl & A1A Wb} U1 fea fadre o ReR g S8 R¥er &l
4R 99F @ ¢ ®T FT HeH SOl WM A1ty Sud gsnd dAfeg| 9 Sfiaq A
fo—fp g-iforat &1 T sxd &, gerTer SifeTg |

4. (ROLL NO. 31-40)

et @ &<l < 98 GItdRl &1 RN &1 &ide 9918V | e &l FH°Is &I
U RIT HBT ATl 2,857 DI dAT U= gl d Fad By |

SECTION- G

1. (ROLL NO. 1-10)



“ P fpae ued ¥ fuaw Wed @, SEeT ORI AT AT S]d 9§ WiEd T
ARd & fedl Yeiie @ @& g=m g qem 98 @1 GEpfa, | SR
e W B aFAeN teba sifeg ik fafag

2. (ROLL NO. 11-20)

gtk aRa &1 fAwior gt wg 8, O9 g9 dle derel Bl 9erdT © | HRd
& fafr=T oie dael & fAvg § o AR 9uf9 & dr S99 udifad siex 'R
R IURYA  IFTaedd aegal | Rreuadr & |

3. (ROLL NO. 21-30)

AR BHIfSY | gl & ada Rerfar dom waieroiia 43 @& favwa 4 S9er gata
PIY qm 9Pfd &1 A > fau A9 H1 FT-FT HSH SOl Ay 39 fawg
W UHre  Sifery |

4. (ROLL NO. 31-40)

M w® TeT Ul fe greal A Ygar @ Sue fad § 999 @ ufa uror _sTaR Hx 1
A oAl BIAT @ 98 -1 Bl FT R FARI AT HAT @ FUIIY 98 IAP ARG & fad
@ ®A9 BIaTl 2 | 4fF e @ Sfilaq S5 T afere™ 29 9 R 3q® dfaag = 18 @
g H ARG dar &1 S8 T B B fav v waxfaa sfaar a1 fEior aifig

SECTION-H

1. (ROLL NO. 1-10)

il faasEig Sff 1 S8l @ QU S gal & <A I A9fasy giar 2 | @il fadsrEg off &
a3 &1 ufey qor S Shaw @ mus! F&r avon fyed) @ fafeag | adam g7 & wRa @)
garsit &1 fadw & ufa gear #ig Fa1 9 22 39 fawy ) A v+ faar a1 aifeg )

2. (ROLL NO. 11-20)

AHAdl & ol 4T 9T 27 39 Q9T WR U 98 g1l 4 qradid d SID1 qIeAra<en
frenvEse T ada@ 99 @ fawa § oM 9 gIR ) S9a der fad sae g™
AU MY Whadl & o Al @ maR ) v e fem=aat &1 fmfor o aifeg )

3. (ROLL NO. 21-30)
AR ¥ F9IY O dlel J&1 QAIERT &1 Gl o9 & W Afed 0@ | 9dd AER &1 oy
TRay < AER | 991-1 9 € 3R S96T g9R Siiad ¥ T " © fod U #auNg
@ER &1 fax 9917 |



4. (ROLL NO. 31-40)

R Bl 3Tolle A H Hg HSH <IHBI A U o $T N7 B far S 9 g
RIGALT 3Mfa | U8 & &9 4 9 10 Qe @& faF fausd qom saa1 og a9y qd gy
IHT U Bl WA I H F®T AN @ fod |

WORK SHEET FOR CLASS 6TH

3t ufeeT® THel BIa®
"I — % ) Srufea e
1. for=forRaa smfea ey &) ugHr TE SR AIRTT |

A & UBIT 3T YD FAM & oIy AT 7 U Wil AdTel 8 | AR 1 aret
W H el & 99 99 ) 8 W R—AIRAT @ T | e B B MRl & T8
GG 9 o | FHd O A F 99 @ oy Ueel Wil R Fel 9d € 3R WS @
Ul SIUEY) UETS HI 31 gai H fIdd €1 Wy g @ forg ¥ wa § 9% 3R d% |
1 vered MW & 37 &R Arl @ foy ave

(1) TN & Yy & g9+ & fory fbas Surg w@iol Hared 8 ?

. Hoferdl o 9. SIEaRI

T. 7= A o, IRIh |
() oY & wEt T @ gY F ?

. AT & I . YR I5

T, GRIE0T I o, IuYch |l
(3) el S TRA | g9 B foly HEf Tl O § ?

. fedrera wR 9. et

T, TSl W o, HIGARI
(4) e g3 & forg @ @ —

®. Ul g, ¥fiad 4

TES BT ST g, I &1 o

(5) A # M A & forg w®IT ' ?



®. 9% AR T F I yared LERNIGIS D)
T, 9= . WS,
(MRT—Q)  ATDHROT 91T
frferRad o smenRa ueei & Wel SR <RI |
1. S ores fohdl s a1 =M @1 fIRIvaT qa1d S a7 ded 27

EASEIl Q. M

1. faeror TT. ey

2. "GaR ARMETT TS ard H DI AT wea faRIvor g7
®. g g ARY

T, gl o qnT

3. Sl ¥req fobxiY febam o1 faeioer s S o1 dEd ©7
. qIIH 9. fobar faRiyor
7. faRrsyg EAEl

4. ST AP S8 9¢ s © Igl NEifhd I T &7
&, feyor | 9. faers

T, =i o, febar faeror
5. foRT wres @1 fARIyaT 9dTs SMY S 9T HEd 67

@. faers g, faRyor

1. fopar faror o, 78 A DIy T8l

6. "al fhell IS < Q1" 9 Aty H $I9 41 fawmor g2
%, JUTATID Q. AEGTarddh

. AT AR aTaD . gRATA S

7. AR 9adTad Aol 9 i AT fhar I 91 27
&®. W . ARAT

T HRNT . qRIT



8. Yl oI B9 B © 39 I H B 7 fagiyor 27
&. AfRRaa A=maraes Q. gRATA®
1. Ifaf¥=d STaTas . FaATHE fagror

9. "HATITR Weoll'sd a1 § I- T eq faeigoy 872
&, AT . FATIER
T, Feol! . AATGICR Feoll

10. 9% 980 9T 3T © I8l N@ifdhd wes B A1 faRyor 22

%, JUTATID . GY1aradh

1. YRHATOTETeS EASIEEIECACCE|

11, 99T &7 TG BIET BT o P B |

P, e Q. quf

T =R . Gl

12. 920 BA..... 9 8 & | Rep WH 31 gt 98 R g @ BIR |
. # . ¥

T H g W

13X g1 3T Afdd €| $9 I19d | DI AT Ak Iy 57

. I 9. TG
T. Afh o5 | BIg T8l
143N s BT AN fIee @ &7

®.AG+P | G, AT+ |

1. 3fy +3rferen | T, 3fy -+ |

15. IO BT A1fH FE 9T HEAl &7

P, TR Q. o

T, 3] o 394 |9 Pls el
16. 791 Usl % ¥ gg adl BT g7



&, IR 9. AT |

1. FGATID o, JWRRH Plg W T8 |
17310 WG9 B aTel..... HEAT B2
. fAded Q. gl
. Il o, I

18. w1ef vreg BT faoli| T B?

®. W1 Q. gAY

1. e o, fagref

19. SYR H SIRAT G dTel P HEA &7
E2RCIESED g, R®

RARISES o, SWRIh PIg Wl T8 |
20fSTI IR IR WIS G I..... Pl 87

. U&TA 9. yeRid

T, gREE o, IREY

2179 # & 3 A1 I gg 77

. g8 Bl g © 9. g8 Bl fagd §

T. 7 By fAgd 8 ¥ 5T 9 PIE TE

2218 A UiE el arael WRIGT 39 919 § B 1 ey g7
&, ARITara® AR |

9. gegardd fqemor |

1. GRATOETES AR |

B IRl ECARCHENE
23 7T vleg g waiuarn 27
&. GBI . g

T, greft q. quh



24 ATAT—TOAT S ATIRIP eq & 1 H...... ST 27

D. HISD Q. 3 favmH

T gof faRm™ PERINC R

2590l fheT Taigar! o &7

®. Sl g, e
T. IRR o, gl

26.HI—AT IE Y& ©°
. Ioad . Ioofael
T, Ioodd RS

27 BT IR Y&

. DA 9. B
T, B o, Ayl
28.HIF—AT YIRETE ‘US &HT Tel 87?
P, TO ICCHE]
T.gH 9. fdey
29 BT GIRETEl ‘A’ BT TEl 27?
T g 9. qgy
3031 &l &1 faad @r 8°?
ERCUNEASH . Pl
Tireg o, qewl
(wrT—)

yufed Urel & MR W fA=ferRad ueal & Sax difor—
1. R fIsaqf@z = IO IR A /T 7T 3R FT?
2. HoRT & bl Bl T Fellg ol?



3. IMSIT S 4 T AT 31 P
4GER I BT M dATSHT a9 DA TST?

5.g9ReT + faeara 9 w7 A= &1?

(WRT—9) =D oG

9.1 Frefofad v w areee Tl |
s &1 A<

9.2 YT AR AR & auie @ |

FeT-vgt  fawg- W@pa

frderaaft-: faemdf sheere siaeTr o1 Tgpd HIdt § S|

1. TGB! A o T8 Wega- forad (AT Bal & 19 dehd J oA
Tfga fafan))

2. 1T 20 W=t TE: WP o [ORdeal B Pagl (1920 b
Tpd § e fafae $iR 39! a1g &)

3. YRURHT A fo: U Wpa ferad | (9 SaR] & A Sd o
IEERSIENANIRE))

4. SReGH Y¥haH forad - fuar, aran, fuame, i) (a3 T 2rsa) &l
Iepd o faRae- fOar, arar, grar, 7=







